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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.

(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (i) only (D) (ii1) only

Total consumption expenditure by households under Keynesian Economics
is a combination of __ and .
(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

11-58/1/3 P.T.O.
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(Tep T &1 WA & fore Tt faehew 1 =3m Fifse)

& AT T 7 |

3. T« Afhgl ! ugaH o 9 Tl foaehed 1 =9 HIfvT
T STHT | T (80%) STRIET 91T
(20%)
I 5000 4000 Q).
I1 4000 (). 800
A | ..(HD).. .(iv).. 5000
foepey -
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
4. YW dgad (BOP) | 1Ry &1 arcdd
(A) TR TA T TR YA
(B) &R WItqdl WX =Tl @ral YaH
(C) St AT YA T st @rar ST
(D) WA YTaE W &R Jiiea
5.  Toreht hreafaer stdegawen & fau am <fifse f .
C =100 + 0-75Y (S&T C =399 9 Y = 3T)
I, = 400 (I, = T fiemr)
s ek (K) &1 94 g |
(f=h Tom =1 WA & fore @&t fasheq 1 == Hifsm)
(A 5 (B) 4
C) 6 (D) 3
11-58/1/3
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3. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
II 4000 (). 800
Total .(i1).. .(v).. 5000
Alternatives :
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
4., Surplus in Balance of Payments (BOP) refers to the excess of

(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

5. Suppose for a hypothetical economy :
C=100+0'75Y (where C = Consumption and Y = Income)
Iy =400 (Iy = Autonomous Investment)

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 4
(C) 6 (D) 3
11-58/1/3 P.T.O.
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6. UH Wlifu f, Th FHeds JTIEAT H AMK e T 500 HUS Hl
3R dqad qUidl & | 7Td FEid &1 qed T 1200 IS 9 T TAE

T 400 S B |
ENUSR (Merchandise) 3ATITd <hl Hcd T mﬁ-s' @TIT |
(f=h TIM =1 WA o foTT @it fashed =1 == Shifon)

(A) 1700
(B) 750
(C) 700
(D) 900

7.  Tr=fkifiea oM @1 eamgdes ST ST
FHo 1 ;A foret srdfeawen #, 3 % TR gfg (AY) Bt 7, @ T8 IUHM
% T (AC) T Hed AT &9 & ghg T <t |
HY72 : HHG 99T TG (MPC) d H9d s=d T (MPS) Hed Th-gal
o S BT 3 |
feu U seET % A H, faiad # 8 wE) faeed w1 =e hifv
(A) HIF 19T 8 3TN HAT 2 37T 8 |
B) HIT 13T 8 M FAT 2T 2B |
(C) YT 13 2gHI acF 2 |
(D) $IYF 13 2T FEH B |
8. Tr=fvifiga # o g wfiertor i v i .
(A) GDPMP = NNPFC + W
(B) NDPFC = NNPFC +5\F&' I h{
(C) GNPpyp = GDPyp + Tocer @ urea 3g @ned o1
(D) NNPFC = NDPMP"‘W
9. Tr=afifga wemt =i ufeu - s1fiepem (A) 3R &R0 (R) | = fou T foepedt &
@Hﬁl%l%qﬂﬁﬂ
fUFHYT (A) : O TR fRufa & a1t srafess stermd 1 srufeafa @ 2 |
FR (R) : Ul e <61 feurfa o, ot sege 9 "am =fea &1 v=fra
FHGH & W USR 916 BIal @ |

ﬁ%‘? :

(A) AR (A) 3R RO (R) HT T & 3 RO (R), b (A) Hi
TE AT 7 |

(B)  AMMHAT (A) 3 ST (R) ST T &, Wohd I (R), T(HHAT (A) <hi
&l e 7E7 3 |

(C) IR (A) FF 7, Wlohd SR (R) I8 3 |
(D)  AMTHAT (A) TEH &, Wiohd RO (R) T 3 |
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6. Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are
T 1200 crore and transfer payments are ¥ 400 crore.
The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1

(A) 1700
(B) 750
(C) 1700
(D) 900
7. Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

8. Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPpc + Net Indirect Taxes
(C) GNPpyp = GDPpp + Net Factor Income from Abroad
(D)  NNPpc = NDPyp + Depreciation

9. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of

involuntary unemployment.
Reason (R): Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

11-58/1/3 P.T.O.
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10. “feAm 9 S 2023 %, AYHA Wi THHeS (NSE) & AThel o SIJER, Th HIG
i afy a4, 9 5 2023 - 9 S 2023, H et €AW fHewmhl (FII) g
T 309 HUS HI Ig forsht 1 71E off |7
ST TH-¢T WA o PIaF OgeH & _ @Id % _ 9§ H g9l fohdAl

JTa | (feh Tl o 9 & e gt fashew &1 = Fifs)
(A) 41, sfee (B) USH, shisc
(C) 4, shise (D) s, Sfere

11. for fafima ot goreft qean 7= afFme < yorelt & 32y 37at wase Hifsu |

12. (%) TUH Hlcdsh feaee & fau 9 fqu MU Afwhsl & MUR W, @ed
AT WX 3G u\iq\scqlq (NDPpc) Hed <pl ATHTH ST

e i (¥ gZ %)
(i) | Eehal SRe] TATRM ot fAmior 400
(i) | Fafd 80
(iii) | AfaH TR TN = 500
(iv) | Torft 9t 1 399 70
(v) | Afw =ie] 3THN = 640
OIS (Inventory) et (I5) (-) 80
(vil) | 3T 90
(viil) | g STTTLT L 60
(ix) | focer & 9rea g SR 3= 50
Jreran

(@) (1) 39 3CTEWT 6l TERAT ° FRIATSTT hl STGYRUN hT qUIH HITT |
(i) TETe SARRY i giyTia HifSe |

13. (%) “Torelt STeioaeen ®, TeATira €W SYfd, TcATRIG THT HiT § 3ok 7 |7
3IcTed, T F USIIR oh T T 59k YHTE shl ST shifoly |
HAAT
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10. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
oth May, 2023 — 9t2 June, 2023.”
The above mentioned transactions will be recorded on ____side of
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1
(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

11. Distinguish between fixed exchange rate system and flexible exchange
rate system. 3

12. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital Formation 400
(i) | Exports 80
(iii) | Government Final Consumption 500
Expenditure
(iv) | Consumption of Fixed Capital 70
(v) Household Final Consumption Expenditure 640
(vi) Inventory Investment (Net) (-) 80
(vii)) | Imports 90
(viii) | Net Indirect Taxes 60
(ix) | Net Factor Income from Abroad 50
OR

(b) @) Elaborate the concept of Externalities with the help of
suitable example.

(i1))  Define Operating Surplus. 1
13. (a) “In an economy, ex-ante Aggregate Supply is more than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4
OR

11-58/1/3 P.T.O.
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(@) ffciRaa amfcrert @i g0 HINT | 3™ % T 200 HUS o T T STHAM

[=1430s

o

Hod k1 AT i |

37719 (Y)

(¥ &g 7)

37T ITYIT

0

Y4l (APC)

100

1

200

0-85

300

0-8

eI 8 I 2023 % ‘T SHMITS IBF H 3Iggd MHIRGd &I W LAFIEH
HEIA I :

“ara T d (RBI) <A <X fafor afufa 3 Tose w9 9 S=wmh o1 <@ i
6:5% W AUiEldd Wed &1 vl o= g | gfufa 3 gurem wifgs fifa

o

(Accommodating Monetary Policy) H I9E o W &AM Higd H & U
HagH ferar & 17

few U T 3 g wvE & emuR W A=fafad e % s difse

(%) I9IH T H A TC AR e i T@ATT T ==t hig |

(@) afg o fufor afifs 9 36 @ & *@ A B, @ ggr mufd & Furfaa
a6t ==t HifST |

frafaRaa st 1 g qi gro ymfvra il

(%) Toreht srefeoraeen ®, g1 Yo & YR o &9 § & Hidl 7 |

(@) ST §F T deTawq § THR o §h b T H & T 7 |

(%) s fg-2=eh uied § 3T & ThR YaTg i FTUNN H HAY § IR
AIfT |

(@) “Hifgh ¥l =T 391G (GDP) i JAT H ITEdicsh Hehel =Xq] 3c1G
(GDP) Tereft Trsg hl 3TTieleh |l o1 98k Hehash g |
F7 39 feU T HYH ¥ HgAd 7 2 fREl Q9 wreue geaTcHe 3eTE
% 1Y AU IT HI gfee Hifre |

(%) TrAfefea w vorea wiftaat sre@n 4Siva wiftaei § anffera e | 3
I o Y& H Y qeh ST

(1) RUT YT 9TH 1S |
Gi) T TR rasl <6 fashl @ fafaasr mifcaat |
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(b)  Complete the following table. Construct/Express the Consumption
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function at ¥ 200 crore level of income.

2

Income (Y) Savings Average Propensity | Marginal Propensity
(in <crore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — —
100 | ...l )
200 | .l 08 |
300 | ...l 08 |
14. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :
“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”
On the basis of given text and common understanding, answer the
following questions :
(a) Identify and discuss the economic issue indicated in the above text.
(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.
15. Justify the following statements with valid arguments :
(a)  Money serves as a ‘store of value’ in an economy.
(b)  The Central Bank acts as ‘Government’s Bank’ in an economy.
16. (a) Discuss briefly the concept of circular flow of income in a two-sector
model.
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example.
17. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan.
(ii) Disinvestment receipts from the sale of a government company. 2
11-58/1/3 Page 11
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(ifi) 9Ra ® afersht f3rem sl UicaTigd A & U w3s Tsg SRt
(USA) TR g0 &1 8 forfia wgmmr | 2
AAAT
@) () = T W AR #1 AHgE® JERH hiY IR FHfaRead ®
ThH) 3T H deddd &Ml o1 fagayur HIfyu

I &l faem 2
A1) Trr foeem ’ 9
S A (T g #g)
2:30 2021-22 E
5.001 [ ws=a == (RE) 2022-23
4501 gll=se == (BE) 2023-24 &
4.00 - .
o o b
2.50 - RN /
2,00 9 o I % %
1.50 - S ‘o 89 323% %
1.00-;55@.%§§§E§ ﬁﬁ'ﬁzlé Z
050 S .S == . % I
oo IM/R7R R R
T fafafert fererre
(@) (i) T R’ g i T’ & st st Tase Fifu | 2

Fie: HEET F97 FacT FIEETIT ghgntdar & o yo7 e 17 @(i) & € |
g/
il Tee & Rt wr il =aren hif | 4

T e @
TR 3rfeies fererma

18. 1970 % T W, UTfhEd™ 3 3794 ITWT T TS IIHTT TohaT o |
(Th T & WA & fore o) faeshew a1 == Fifsw) 1
(A)  Taferean snearfes wt=mT Gad
(B)  3UNMIHI S&ga3Ti daeh
(C) Ysfira awgsti gadt
(D) fosft smm
11-58/1/3
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(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) @) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Urban Development 2
(IT) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(< lakh crore)
=
2.501 2021-22 o
igg 1 MMM Revenue Expenditure (RE) 2022-23 -
el Budget Expenditure (BE) 2023-24 &
oy Il Budget Expenditu . -
3.50 A '
2w U
3.00 A @ % /
2.50 - o o S %
. <+ U
2.00 - = @ < g S % %
A~ T R 05 % % /
1001 5 5 8 %do’/ooo/o / % /
oz I M 7MW 11
izl B V| U V1l Wl ¥
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities Development
(b) (i) Distinguish between ‘Fiscal deficit’ and ‘Primary deficit’. 2
Note : The following question is for the Visually Impaired Candidates only
in lieu of . No. 17 b(i).
Explain the stabilisation function of the Government Budget. 4

SECTION B
Indian Economic Development

18. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1
(A)  Medical infrastructure
(B)  Consumer goods
(C)  Capital goods
(D)  Foreign trade

11-58/1/3 Page 13 P.T.O.
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it oMl &1 SHYde AT HIMT :

Fg7 1 : INUHARG T & 3ad, N G (I8 od, 8 9 R
3Tl o1 Tarehra femam T o |

FYT2 ; VR H AT LT o IhE o N9 driaes 32 fsifesr fai =
g AT AT |

feu U seET % I H, Efaiad # 8 wE) ooy w1 =e hifve
(A) HIT 19T 8 3TN HAT 2 3AEH 8 |

(B) Y 130T 2 MM FA 2T 2 |

(C) YT 13M 2T T2 |

(D) Y 13 2 gHI 3 7 |

qgaH hifelg fob FHfcAfgd 5 & sH-81 fasheq, Y fauom et &+ @
W%ﬂmﬁm% :

(A)  TIASH, TSI, FHEHT, FohforT

(B)  3cUTed, HIISH, TEEhRT, UfS

(C)  TAISH, TEERI0T, YehfonT, Iias

(D)  JEERL, Yehfort, UfEm, oo

frfafea saAt =1 9feu - 21fieped (A) 3R &R (R) | 9= fou o fosedt &

37T (A) : Ta9a SR e (WTO) § g 3UeT hi 9dl g foh 98 d9eed
TSI R MY, T UehalWl 9T I Ufdeel & s=- & fore
Frm_snenfa saTiies saaTen Teonfug =t |

PRU(R) :  TATE WU & wy-wd, fova 3cared ¥ gfg wem 9 Afvaw
TETEAT T $aH TN FHTd AT AHTH 2 |

IEETR I

(A) 3w (A) 3 FROT (R) gHT T § M HRUT (R), b (A) h
& ST 7 |

(B)  3TfiheM (A) 3R ST (R) THT T B, <fehd ROl (R), AMHH (A) I
TEl AT TE7T 8 |

(C) 3R (A) FF 7, Wlohd R (R) I8 7 |

(D) 3T (A) IHH 8, Afehd HRUT (R) TT 2 |

11-58/1/3 Page 14
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Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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22. Tr=fafaa sl =1 ufen - s1firpem (A) 3 R (R) | = feu 7o foereat &
T T fashew ghw 1

S7IFYT (A) : T 4 39 AWIERT & fou fdfcs gmifees o i e
39d T o fIU SIS 9 1 39T foram B |

FHR(R) : TLhR ¢RI gMHTNIeh TN 9T o fFmior 9 =1 4 |94
fIerTE Gehdenl § HehNIcHeh giony feu 2 |

ICETZ IR

(A)  AMHAT (A) I SR (R) I T & 3 HRUT (R), AR (A) hHi
g ST 2 |

(B) 3T (A) 3R RO (R) ST TcT 8, Afehd T (R), MR (A) h
g e 77 B |

(C) 3R (A) FF 7, Wohd ST (R) 7T 7 |

(D) AMHAT (A) TEH 7, ek RO (R) T 7 |

23. TfaRaad foshedl # 9, fafafWa SN 99K % @ LW 6l 9g9H HhiT ;1

(i) PRI P ITh 3Gl I T oI Tga™ o A€ fodquE Jorredt <
A I JHET ST |

(ii)  HEehi < oI foque YT B9 § IR I galcansd e |
(iii)  SHSERI ST SATHOT THAT |
(iv) SR I ITehl IUS ohl TUET d AT H IR HH ok fOQ galcaniad

AT |
foepey -
(A) () AR (i) (B) (1) AR (ii)
(©) (i) 3 (iv) (D) (i) 3R (iv)
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22. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

23. Identify from the following alternatives the imcorrect objectives of

regulated agriculture market :

(1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

(i1)) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (i1) (B) (@) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

11-58/1/3 P.T.O.



24, YRA 9 UIhEd H SHES: | Il H 3T IR AT
fepe e o |
(Th TAHT WA o T T@T forshed T =4 hifT)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

25. THfRad el 1 SAHYE® AT hHIT -

FI7 1 : U Ffaest Faeau Fed (NSSO) F SRS i 38 YR aRwTia
fopa 2 T o8 9 srawen B, T =afts &m & v & ROy fom
HM % @ I 2 aAfehd 9 gurfad Fammett @ sm i aamw = )@
8 | d %W IR il & Aiser feufadi % dgd &M & 6l
3591 /3qeddl S L & |

FYT2 : ARG S0 AITh G aTed TS T I=05d ISR AR TS
qEE R |

feu U et % AT H, fdiad § 9 g&l faeheq 1 =w9F Fifviw -

(A) Y 18T 8 3R H 2 3WH 7 |

(B) U 13T 8 I FM 2T 2 |

(C) e 1R 23HI 9T & |

(D) o 13N 2THI 3HA & |

26. UgaH hifve b fafafaa @ & SH-\1 G-20 1 957 T 757 2 ¢

(A) ST
(B)  3negferan
(C) SRy
(D)  3TSIEH
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25.

26.
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Economic reforms were introduced in India and Pakistan in the years
and , respectively.

(Choose the correct alternative to fill in the blanks)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing

conditions of work and remuneration.
Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B)  Australia

(C) Bangladesh

(D) Argentina

1



27.

28.

29.

30.

[=145 0=
[=. 4

frefaftaa el =l dfgy - AHA (A) 3R SR (R) | = fou U faskedt o

ﬁﬂﬁﬁ%‘?ﬂﬁm

SYHIT (A) : W dEd TS % Iys Ofema 3 58 St i @l
wiaerdl g | Tk fozm o |

HRU(R) : TSt & 9 3cq1g uradl TR TS FiaedeicHehdl § 9R
ST ATs8E UTed i | &<l UM Sl i off |

ﬁW‘f{ :

(A) 3R (A) 3R HRUT (R) HT TT & 3T SR (R), TMHeH (A) i
g AT 7 |

(B) 3T (A) 3T RUT (R) T T &, Afehd HIUT (R), AMMHAT (A)
&l e 7E7 3 |

(C) AMMHAT (A) I B, Afhd R (R) 3T B |

(D) 3R (A) 3T 8, Afehd HRUT (R) TF 2 |

“ara ®, Ted faren Hifa 2020 7 Rt % Aarerredia g | raiys 9
ﬁ_q.l.%l”
(i) 39 ®eH H 3@ AHa S 0 (HCF) % @i hl 989 it |

(i) 9N & 21ifer fam™ W 3@ @ia & guifad y9ral hl fIedar 9 s
iy |

(%) “safEfer i & E ST & o feerdr (Tfdgibdn) Qe 78 off 17

FIT 39 U U HYH U TEHT @ ? 9Y dehl gl A9 ST 1 Iy fug
ST |

AT

(@) 37 ®RoM ol foer & gase e wrer =i a3 & f=nfie fifa
Tehed, 1956 % qad [A-ATTd fohaT =T o |

(%) 9Ra & ymfio & ° ger-are (ifaeryg-wrg) e & el g At @
Joolg hifaT |
(@) “Gaam feufa #, 9Ra <9 U § @ g I R HOgEAn SR
Tyl e FTd 7 17
feu u oM w1 3ifae foag Fifse |
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27. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses

rather than on improving the product quality and
international competitiveness.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

28. “In India, National Education Policy 2020 has stressed a lot on in-service
training of the teachers.”

1)

(i1)

29. (a)
(b)

30. (a)
(b)

11-58/1/3

Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement.

Elaborate the likely impacts of this source on the economic
development of India.

“During the colonial period the agricultural sector showed massive
stagnation.”

Do you agree with the given statement ? Justify your answer with
valid arguments.

OR

Elaborate the reasons owing to which the private sector was
regulated under the Industrial Policy Resolution, 1956.

State any two advantages of micro-credit system in rural areas of
India.

“In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”

Justify the given statement.

Page 21 P.T.O.
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“Os Tsg & anfdes @ ot Amet & faumn 9 ¥g weha fown B T
T 3T 2023 & HE § 4 bl 10 g, fova <1 g9 3o

STEET STl TS o4 T 8 17

=9 g 1970 < Tk H IYATS TS Tshed-oTAh H1fd o IRUMHT shl AT
HIT |

= 61 i Hefg W foRIv 1idfe & (SEZ) % JWmEi shi == HY |

Y dehl g Ioi@ d AT shifore for FAmaferfaa sem gry 2 @ sra

(i) B U, YA SR A o gEeEi o $eay e % o
SH-4 FSHT S8 g AUl $ed 33T 3 |

(i)  =ftes — SaEn Igd fopeft g § e s feufa w1 faroermmn
0 o T 3T fopan ST 1ot Wk Hohdeh B |

AT

(i) ¥Rd § #fgen e = geanfdd s Hl AR I e

HT |

(i) RPN vEER e # fafadientor wfafafe™ & fhal a1 3o
1 e HINT |
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“United Nations Department of Economic and Social Affairs

indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.
(ii)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.

OR

(1) Elaborate the need to promote women’s education in India.

(i)  Mention any two examples of diversification activities in the

non-agro processing industries.

Page 23 P.T.O.
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33.

34.

=i
A

(F) () “URT TR R 33T T IgRIHO YR o Aad, AR T
fraw Hifd gar 1 ggwyet of 1”7
AT dehl g1 U T R o1 Wed 319aT gHeH vy |
(i) “gia wifd & &g W 1990 % <H o WRA hl 65 Ffawa
SEEAT Y &=k | o @1
Iy Tepi g0 feu T e o1 3ifue fag il |

HAYAT
(@) () “ 95 % ¢ I8¢ 8 & — PN UGH W 5gd off TA1 & T
3hte 3R 3 |7
Y IUCH TR W & 94 9 fauer # Qg1 Topl Aled 1CT T A
<l gfee <hIfSTT |
(i) WRAE 3Tk ASHT % 3L & &9 H “GAaT &% A1 T9Lg h
A& I 3o01@ hiT |

frefeifad @ 1 SHYEs TeRE HINT ¢

WA H 9y q91 9 9GO hl g THE Wi farst 9 fded % g
GUHR A 1974 ¥ el TG0 I §€ (CPCB) shi 191 61 | 36 a1q, U
TR W w qaferely fodreti § Maed o g TsAi 9 3194 -319 918 s/ | 3
d1€ (CPCB) 5, a1 3R Y YguU ¥ Haled Fersll 1 oo AR faa
Fd 2 | 3 FR /AR Fepmm 3 IcasH o A Huifia wd 2 | 3 98 Wi
1 A TG o Uk, FEA0r 3R FH o fou Sa-amust g Afet stk s
HI WeHdl & YT & I qehieh! TERAT YgH L & | 3T SR aig
o H gUR T B | A N W 9y YGNU o (RE0 g W R Rl kTR

N
HAalddl HAGlH enld % |

Y 9IS I F 91 UGN § Hetud GEEATSA hl A9 9 AEUH H Fd 7
3R UE 99 9 AU Sl TG Hid @ | $Heh € o I H9R o 9199 9
S SITTEehdl I Tfd #id & | PCB %=X 9 dTfey 3ufyrsel o faem
3N IT=R ¥ Feted e, dfgdn 3R Anieeie gieeh dIf Hid & |
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(a) 1) “Under the liberalisation measures taken by the Government
of India, Trade and Investment Policy reforms were extremely
crucial.”

Reject or support the given statement with valid arguments.

(i)  “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.
OR

(b) @) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii)  State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.



[=1430s
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3T & fafem g1 9 a1y et 1 qediehd d & | 9rad § 310
e wllw stfemifert & meag @ U9 91 o &R O W 9Tl e
A &1 gog-ay W e, e o Mg Scas g Suced IuRi
Tl T foeisor S 6 foTT T @ | I8 STN-TuH Haiv 9 FR FEsE %
foQ aTravaesh gsayfi q9n 9Ty TUrEa SAfehe Wi YEH T B |

TGUUl Ul SIE 9 WGWUl W e[ dehdlehl SN WIEThl Hihg i
Gehetd, GUTeA R faawor &td & | 3 125 i (sud IwAfear ot wfie §), 3,
e, @rEt, e, d, AT 3R T80 B el I ure hl SEE Hd 8 |

few M T 9 g FE % R W AEfafga gt % s A

(%) UH fopegl § Hai 1 Iooi@ HIfY FSeh HRU hegid Tguu frmo g

(CPCB) h1 T i T8 off |

(@) s yguu frEm S (CPCB) g fobn M ot fohesl @ sl
ST <HITT |

()  9ra g g faemm gifvad & o fag s w8 foaedl g1 worifaet
%1 9UH HIFT |
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.

It also provides background air quality data needed for industrial siting

and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.
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